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 BPAC-132  

BACHELOR OF ARTS (GENERAL) 

(BAG) 

Term-End Examination 

February, 2021 

BPAC-132 : ADMINISTRATIVE THINKERS 

Time : 3 hours Maximum Marks : 100 

Note : Answer any five questions in about 500 words 

each, selecting at least two from each section. All 

questions carry equal marks. 

SECTION I 

1. Bring out Gandhi’s idea of ‘Swaraj’. 20 

2. Examine the basic concepts of F.W. Taylor. 20 

3. Explain the views of Mary Parker Follett on 

conflicts in organisation. 20 

4. Write short notes in about 250 words on each of 

the following : 10+10 

(a) Limitations of Rule by Officials 

(b) Concept of Authority 

No. of Printed Pages : 4 
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SECTION II 

5. Describe the features of Rensis Likert’s 

Management System. 20 

6. ‘‘Chris Argyris suggested a strong connect 

between individuals and organisations in the 

underpinnings of his theories.’’ Comment. 20 

7. Elucidate the features of the Two-Factor Theory 

of  Frederick Herzberg. 20 

8. Write short notes in about 250 words on each of 

the following : 10+10 

(a) Peter Drucker’s Management Theory  

(b) Normative Optimal Model of Policy Making 
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H$bm ñZmVH$ (gm_mÝ`) 
(~r.E.Or.) 

gÌm§V narjm 

\$adar,  2021 

 

~r.nr.E.gr.-132 : àemg{ZH$ {dMmaH$ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {ZåZ{b{IV _| go {H$Ýht nm±M àíZm| Ho$ CÎma bJ^J 500 eãXm| 
(àË`oH$) _| Xr{OE & àË òH$ ^mJ go Xmo àíZ Adí` Mw{ZE & 
g^r àíZm| Ho$ A§H$ g_mZ h¢ & 

 
^mJ I 

1. ‘ñdamO’ na Jm±YrOr Ho$ {dMma H$mo COmJa H$s{OE & 20 

2. E\$.S>ãë`y. Q>oba H$s ~w{Z`mXr AdYmaUmAm| H$m narjU 

H$s{OE & 20 

3. g§JR>Z _| g§Kfm] na _¡ar nmH©$a \$moboQ> Ho$ {dMmam§o H$s 

ì`m»`m H$s{OE & 20 

4. {ZåZ{b{IV _| go àË`oH$ na bJ^J 250 eãXm| _| g§{jßV 

{Q>ßn{U`m± {b{IE : 10+10 

(H$) A{YH$m[a`m| Ûmam emgZ H$s gr_mE± 

(I) àm{YH$ma H$s AdYmaUm 
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^mJ II 

5. a¢{gg {bH$Q>© H$s à~§YZ àUmbr H$s {deofVmAm| H$m dU©Z 

H$s{OE & 20 

6. ‘‘{H«$g AmaJmB©[ag Zo AnZo {gÕm§Vm| Ho$ AmYma na ì`{º$`m| 

Am¡a g§JR>Zm| Ho$ ~rM EH$ _µO~yV g§~§Y H$m gwPmd {X`m &’’ 

{Q>ßnUr H$s{OE & 20 

7. \«o$S>[aH$ hµO©~J© Ho$ Xmo-H$maH$ {gÕm§V H$s {deofVmAm| H$s 

ì`m»`m H$s{OE & 20 

8. {ZåZ{b{IV _| go àË`oH$ na bJ^J 250 eãXm| _| g§{jßV 

{Q>ßn{U`m± {b{IE : 10+10 

(H$) nrQ>a Ś>H$a H$m à~§YZ {gÕm§V 

(I) Zr{V {Z_m©U H$m _mZH$s` loîR> _m°S>b 

 


